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1 Introduction
During the last RAN4#78bis meeting, the Draft TR was updated in [1] to include measurement procedure for EIRP. The text adopted includes calculating total EIRP from both measured EIRP in each polarisation. This needs discussion and possible TP for clarifying the measurement of EIRP procedure
2 Discussion
During the last RAN4#78bis meeting, a proposal was made in [2] to account for polarisation for the EIRP measurements.

Concern was raised about this proposal since in practice polarisation is used for separate beams with own EIRP values. During the discussion it was clarified that the calculation for total EIRP for a beam needs to include polarisation in order to reduce the effect of mismatch. Contribution [2] was noted, however, the text from [2] was still included in the big TR [3] which was approved as indicated below:
1) Set up AAS BS in place of SGH from calibration stage.  Align DUT with beam peak direction of range antenna.

2) Configure TX branch and carrier at a time according to maximum power requirement

3) Set the AAS BS to transmit the test signal according to E-TM1.1 at 5 MHz bandwidth configuration

4) Measure mean power (Pmeas) of each carrier arriving at the measurement equipment (such as a network analyzer) denoted in Figure 10.3.1.1.2.2.-1

5) Calculate EIRP, where EIRP = Pmeas + LA→B
6) Calculate total EIRP = EIRPp1 + EIRPp2 where the declared beam is the measured signal at port 1 (p1) and port 2 (p2).

7) Repeat steps 2-6 for all conformance test beam directions as described in TS 37.145-2 Section 6.2

As a result the text on EIRP measurement in [1] is ambiguous in particular step 6 which needs further clarifications. 
The terms EIRPp1 + EIRPp2 used in the measurement procedure step 6 are not defined and need definitions. The test signal is defined as E-TM1.1 but need also to clarify that the declared EIRP is per beam where each beam is characterised per polarisation. 

It is suggested to produce a TR to clarify these points in order to avoid confusion that the EIRP may be due to the EIRP in both polarisations. That is to avoid adding EIRP from two separate beams with different polarisation.
3 Conclusion

Measurement procedure for EIRP was added to the TR [1]. The text is ambiguous and lack definitions of the terms used.
RAN4 needs to discuss how to clarify this in order to avoid the confusion that the EIRP declared for a beam is due to the power from both polarisations.
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